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Do Now
Find the value of x in each diagram.
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Homework Answers
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Finding Angle Measurements "in words"

If ¢G and &H are supplementary angles and m¢H = 51°, find m<G.

Le éu— —\%\ %—1808 29

If (1 and X2 are Vertlcal angles and m {1 = 1282, find m42

>< M <Q=)28°

If {J and gK are complementary angles and m £K = 73°, find mgJ.
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If£1 and gg are vertical angles and the m{1 = 5x®22° and
M2 =3x+2°. Find the m&2
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If QL and é2 are complementary angles and The n&l =x+7°
and mé?. =7x-13°. Findthe m%*d & mQZ.
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If 41 and 42 are supplementary angles and their measures are in the
ratio of 2:3. Find the m /1 & m 2.
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If <1 and £2 are complementary and their measures are in the ratio of
2:4. Find them /1 & m 2.
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